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(7%) —{E nx n AERETE A3 S R AR (symmetric) AR EL R BT = BHE ; AR —EERERE C" =-CHE » BIEME
R SCHTB(SRI I8 E e (skew-symmetric) » FIFI2A = A+ AT + A - ATEZS » AL nx n 450 A T B —(F
symmetric ERERT—(E skew-symmetric SRR « (FrLAE(AI4EREE B symmetric % skew-symmetric ) » (B2

#2504 A = symmetric matrix + skew symmetric matrix)

(15%) HEPIAERME

(1, 0<x<1
%_’_y:f(x); ¥(0)=0, ;E;EFlf(x)={0, x>lx< '

(15%) SAAEVIIA ERTE
¥'+y=tan(x); y(0) =4, y'(0) =3.

(5%) k125 poshrahrn #E#4 (inverse Laplace transform).
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(10%) KfEm 2 TS HREACEE ()
f@) =28+ [ f(@)sin(e-7)dz .
(10%) KFERKEL f(x) Z BT KB (Fourier series).

f(x)=5x%-sin(x), —7<x<r.
(15%) KfEZFYERIRE (boundary value problem)

2
6_u_4_5_ for 0<x<2,1>0
ot ox?

u(0,£)=0, u(2,6)=0 for t>0

u(x,0)=3x for 0<x<2.





